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Find each measure. " gs:Z(P@)

1. 6/ 38 12. RQ 1.5 ' eJ=2019)

13. &/ 19 14. mZPQRSG° eI =38

15. mAH(.‘]55° 16. mZGPQ 125 12. H’G=Z(2Q)

K 271=2(RG)

3. RI=%(c3) M-mePaR=5s® z 2
R3=}(ag) (vcak.mtLs =) 13.5= RQ
RI=\ s mLKG6I=58" |, mLGPa=125°

(vle corvis E) (ble Same de Int+Ls are supp)

AKLM Is the midsegment triangle of AGHJ.
18. What is the perimeter of AGH

|$¥ aJ=2(kL an | f LJ""}, 3rd Pcyimda AGH'J

II:"'*"—'.“JH =
e K A QJ = 9-(1) gt‘)e:\\JHgg *, |2+144-8
<qi, §GI=1% hr=a(km) | 34 units
‘! g _g - Z(KM)
I't 2 2
4 =Km

»y Algebra Find the value of n in each triangle.

21, : 22. 23. 74
‘ P n—-9 X 9/
3n + )
b - 35

3n=2(s4) 35=9(n-9)  TH=2(ints)
3n=108 35=2n-18 = gn IO

=30) 53=2n b'=8n
(265=n] (8=n




24.

95
2n—23

1

1

25. 26.
' s gn+ 10
| ‘ Sn \

In-13=2(45) n=2(n+8)
in-2%=19 n=Intlb
In=4q Un=Ib
h=21] n=t)

gntid= 2(5n)
entio = 1on
0=2n




